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1. &K & D,I1109
=D, [f1(x+p)+D,[f1(x)
2. ©4aD [fl(x+ka)=f(x+(k+Da)- f(x+ka) » #&
:Z;Da[f](XJrka) =gf(x+(k+1)a)—f(x+ka)
= f(x+na)—f(x)=D_[f](X)
3. 4
Dn[f](x):gD[f](XJrk):n
HHRDFI) =12 /I AL L Hh— R F B X245
24
o R E(x) =[X17F A — % -

4. # € D [fg](x) = f (x+e)g(x+a) - f(x)g(x)
= T (X+a)(9(X+a) —g(x)) + (T (x+a) - T(x))g(x)
= (T (x+a) = T(x))g(x+a) + T (X)(9(x+a) - g(x))
& T (x+a)D,[9](x)+D,[f1(x)g(x)
=D, [T1(x)g(x+a)+ T (X)D,[9](x)
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5. a,+a +a,+---+a =0H]|a |[+]|a |+]|a,|+-+]|a |F2" °
6. D[f](x)=nla" > BD"[f](x)=0 -

1 n

. TO+f@2)+f@R)+---+f(n)=1- —
n+l1 n+1
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8. Moy NEXEHMBERS-
9. f(nN)=nl+1 o
10. cosa, —cosa, &) £ AfE £ 3139 o
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